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¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2015 › Ê≈√Ú, 2016 

‹ø26√fl¡ ¬Û±Í¬Sê˜ ( Elective ) 

õ∂±Ìœø¬ı√…± ( Zoology ) 
Ó‘¬Ó¬œ˚˛ ¬ÛS ( 3rd Paper : Developmental Biology 

and Ethology ) 
¸˜˚̨ – ≈√̋ ◊√√ ‚KI◊± ¬ Û”Ì«̃ ±Ú – 50 

Time : 2 hours Full Marks : 50 
[ ˜±ÀÚ¬ı˛ &èQ – 70% ] 

Weightage of Marks : 70% 

¬¬¬¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 

’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 
Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

Special credit will be given for precise and correct 

answer. Marks will be deducted for spelling 

mistakes, untidiness and illegible handwriting. 

The figures in the margin indicate full marks. 

1º øÚ•ßø˘ø‡Ó¬ Œ˚-Œfl¡±ÀÚ± ≈√øÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú –  

    10 × 2 = 20 

 [fl¡] ¶Û±˜±«ÀÈ¬±ÀÊ√ÀÚø¸¸ øfl¡ ∑ ¤ ◊̋√√ ¬ÛXøÓ¬ÀÓ¬ øfl¡ øfl¡ õ∂Ò±Ú 

¬Ûø¬ı˛¬ıÓ«¬Ú ˘é¬… fl¡¬ı˛± ˚±˚˛ ∑ ¶Û±˜±«ÀÈ¬±ÀÊ√ÀÚø¸¸-¤¬ı˛ 

ø¬ıøˆ¬iß √̇ ±¬ı˛ ¬ıÌ«Ú± fl¡èÚº 2  + 3 + 5 

 [‡] ·…±¸¬∏C≈À˘˙Ú ¬ÛXøÓ¬ÀÓ¬ ø¬ıøˆ¬iß õ∂fl¡±¬ı˛ Œfl¡±À¯∏¬ı˛ ·˜Ú 

¬ÛXøÓ¬ ¬ıÌ«Ú± fl¡èÚº ¤ ◊̋√√ ¬ÛXøÓ¬ÀÓ¬ ’·±«Ú± ◊̋√√Ê√±¬ı˛-¤¬ı˛ 

&èQ ø˘‡≈Úº ëøõ∂ø˜øÈ¬ˆ¬ øàòfl¡í øfl¡ ∑ 6  + 2 + 2 

 [·] ¸˝√√Ê√±Ó¬ › ø˙øé¬Ó¬ ’±‰¬¬ı˛Ì ¬ı˘ÀÓ¬ øfl¡ Œ¬ı±ÀÁ¡Ú ∑ ≈√øÈ¬ 

¸˝√√Ê√±Ó ’±‰¬¬ı˛Ì-¤¬ı˛ Î¬◊√± √̋√¬ı˛Ì ø√Úº ø˙øé¬Ó¬ ’±‰¬¬ı˛ÀÌ¬ı˛ 

ø¬ıøˆ¬iß ¬ÛXøÓ¬ ’±À˘±‰¬Ú± fl¡èÚº ˜øô¶À©®¬ı˛ Œfl¡±Úƒ ’—˙ 

¶ú‘øÓ¬˙øMê√¬ı˛ Ê√Ú… ¡√±˚œ̨ ∑  3  + 2 + 4 + 1 

 [‚] Ê√øÚÓ‘¬ ˚P øfl¡ ∑ ø¸À˜˘¬Û…±ø¬ı˛øÈ¬ › ˝◊√√ÀÈ¬À¬ı˛±¬Û…±ø¬ı˛øÈ¬ 

¬ı˘ÀÓ¬ øfl¡ Œ¬ı±Á¡±˚˛ ∑ Î¬◊√± √̋√¬ı˛Ì¸˝√√ ¤fl¡øÈ¬ ˜±ÀÂ√¬ı˛ Ê√øÚÓ‘¬ 

˚P ¬ıÌ«Ú± fl¡èÚº 2 + 3 + 5 

2º Œ˚ Œfl¡±Ú øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú [ õ∂øÓ¬øÈ¬ ø¬ıˆ¬±· ŒÔÀfl¡ 

fl¡˜¬ÛÀé¬ ¤fl¡øÈ¬ fl¡À¬ı˛ øÚÀ˚˛ ] – 6 × 3 = 18 

ø¬ıˆ¬±· - fl¡ 

 ¬[fl¡] ¬Û¬ı˛±Ô« ”̃̆ fl¡ ’±‰¬¬ı˛Ì øfl¡ ∑ ¬Û±¬ı˛¶Ûø¬ı˛fl¡ ¬Û¬ı˛±Ô«˜”̆ fl¡ 

’±‰¬¬ı˛Ì (Reciprocal altruism) Î¬◊√± √̋√¬ı˛Ì¸ √̋√ 

¬ı…±‡…± fl¡èÚº 2 + 4 

 ¬[‡¡] ¬Œ¸±˜±ÀÈ¬±õ≠≈¬ı˛± › ¸ƒõ≠…±—fl¡ÀÚ±õ≠≈¬ı˛± øfl¡ ∑ ’…±˜øÚ˚˛Ú, 

’…±˘±ÚÈ¬À˚˛¸ › Œfl¡±ø¬ı˛˚˛Ú-¤¬ı˛ &èQ Î¬◊À~‡ fl¡èÚº 

   3 + 3 
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 ¬[·¡] ◊̋√√ø˘˙ ( Tenualosa ilisha )-¤¬ı˛  ¬Ûø¬ı˛˚±Ú ¬ÛXøÓ¬ 

¬ıÌ«Ú± fl¡èÚº ˜±ÀÂ√À√¬ı˛ ¬Ûø¬ı˛˚±ÀÚ ˜Ú≈¯∏… ¸‘©Ü ≈√øÈ¬ ¬ı±Ò±¬ı˛ 

Î¬◊√± √̋√¬ı˛Ì ø√Úº  4 + 2 

ø¬ıˆ¬±· - ‡ 

 ¬[fl¡] Œõ∂±ÀÈ¬±Àà±˜ › øÎ¬Î¬◊ÀÈ¬À¬ı˛±Àà±˜ øfl¡ ∑ ¬ıv±Àà±À¬Û±À¬ı˛¬ı˛ 

¬Û‘á¬œ˚˛ ›á¬Àfl¡ õ∂±Ôø˜fl¡ ¸—·Í¬fl¡ ¬ıÀ˘ Œfl¡Ú ∑ øÚÀ¬ı˙Ú 

[induction] fl¡±Àfl¡ ¬ıÀ˘ ∑ 3 + 2 + 1  

 ¬[‡] ’˜¬ı˛±¬ı˛ õ∂fl¡±¬ı˛Àˆ¬√ ¬ıÌ«Ú± fl¡èÚº ’˜¬ı˛±¬ı˛ fl¡±Ê√ 

’±À˘±‰¬Ú± fl¡èÚº 4 + 2 

 ¬[·] ◊̋√√̃ ƒø•xøKI◊— [imprinting] ¬ı˘ÀÓ¬ øfl¡ Œ¬ı±ÀÁ¡Ú ∑ 

Î¬◊̋ ◊√√À¬Û±fl¡±¬ı˛ ¸±˜±øÊ√fl¡ ‡±√…¢∂̋ √√Ì ’ˆ¬…±¸ ¬ıÌ«Ú± fl¡èÚº  

   2 + 4 

3º  Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú  [õ∂øÓ¬ ø¬ıˆ¬±· ŒÔÀfl¡ ≈√øÈ¬ 

fl¡À¬ı˛ øÚÀ˚˛ ] – 3 × 4 = 12 

    ø¬ıˆ¬±· - fl¡      

 [fl¡¡] 1935-¤ Sir K. G. Lorenz-¤¬ı˛ ¬Û¬ı˛œé¬±¬ı˛ &èQ 

¬ıÌ«Ú± fl¡èÚº 3  

 [‡] ˜±ÀÂ√¬ı˛ ŒÚ±Ú±Ê√̆  ¬Ûø¬ı˛˚±Ú › ¶§±≈√Ê√̆  ¬Ûø¬ı˛˚±Ú ¬ı˘ÀÓ¬ 

øfl¡ Œ¬ı±ÀÁ¡Ú Î¬◊√± √̋√¬ı˛Ì¸˝√√ ¬ı…±‡…± fl¡èÚº 3 

 [·] ¬Û±ø‡À√¬ı˛ ¬Ûø¬ı˛˚±ÀÚ ø¬ı˛—ø·— › ¬ı…±ø`¬—-¤¬ı˛ &èQ 

’±À˘±‰¬Ú± fl¡èÚº 3 

 [‚] ˆ¬±¬ı˛Ó¬¬ıÀ¯∏« ’±·Ó¬ ≈√øÈ¬ ¬Ûø¬ı˛˚±˚˛œ ¬Û±ø‡¬ı˛ Î¬◊√± √̋√¬ı˛Ì ø√Úº  

   3 

   ø¬ıˆ¬±· - ‡    

 [fl¡¡] øflv¡Àˆ¬Ê√ ¸—Sê±ôL Hertwig › Balfour-¤¬ı˛ ¸”S 

ø˘‡≈Úº 3 

 [‡¡√√] Ù¬±øÈ«¬˘±˝◊√√øÊ√Ú › ’…±øKI◊Ù¬±øÈ«¬˘±˝◊√√øÊ√Ú øfl¡ ∑ ¤À√¬ı˛ fl¡±˚« 

ø˘‡≈Úº 2 + 1  

 [·] ≈̃¬ı·̨œ¬ı˛ w+ÀÌ¬ı˛ ˆ¬±·… ˜±Úø‰¬S [fate-map] ¬ıÌ«Ú± 

fl¡èÚº 3 

 [‚] Œ¢∂-øSêÀ¸KI◊  øfl¡ ∑ ¤¬ı˛ ¬Ûø¬ı˛ÌøÓ¬ Î¬◊À~‡ fl¡èÚº    

   2 + 1
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( English Version ) 

1. Answers any two of the following questions :  

    10 × 2 = 20 

 (a) What is spermatogenesis ? What are 

the main changes that take place 

during spermatogenesis ? Describe 

different stages of spermatogenesis.  

   2 + 3 + 5 

 (b) Briefly describe the types of cell 

movement found in gastrulation. Write 

the importance of 'organiser' in 

gastrulation. What is primitive streak ? 

   6 + 2 + 2 

 (c) What do you mean by 'innate' and 

'learned' behaviour ? Give two examples 

of innate behaviour. State the different 

ways of learned behaviour. Which part 

of the brain is responsible for      

memory ?  3 + 2 + 4 + 1 

 (d) What do you mean by parental care ? 

What are 'Semelparity' and    

'Iteroparity' ? Describe with example a 

fish showing parental care. 2 + 3 + 5 

2. Answer any three the following questions         

(Taking at least one from each group ) :  

    6 × 3 = 18 

Group-A 

 (a) What is 'altruistic behaviour' ? Describe 

'reciprocal altriuism' with example. 2 + 4 

 (b) What are 'somatopleura' and 

'splanchnopleura' ? Describe the 

importance of amnion, allantois and 

chorion. 3 + 3 

 (c) Describe the migration process found in 

Tenualosa ilisha. Write two 

anthropogenic hindrance to fish 

migration. 4 + 2  

Group-B 

 (a) What are protostome and  

deuterostome ? Why is the 'dorsal lip' of 

the blastopore considered as 'primary 

organiser' ? What do you mean by 

'induction' ? 3 + 2 + 1 
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 (b) Describe the different types of placenta. 

What are the functions of placenta ? 

   4 + 2 

 (c) What do you mean by 'imprinting' ? 

Describe the 'social feeding' behaviour 

in termite. 2 + 4 

3. Answer any four of the following questions         

(Taking two from each group ) : 3 × 4 = 12 

Group-A 

 (a) Describe the importance of the 

experiment done by Sir K. G. Lorenz in 

1935. 3 

 (b) Describe with examples catadromous 

and anadromous migration in fishes. 3  

 (c) Discuss the importance of 'ringing' and 

'banding' in bird migration. 3 

 (d) Give two examples of migratory birds 

visiting India. 3  

Group-B 

 (a) Write the laws of Hertwig and Balfour 

on cleavage.  3  

 (b) What are 'fertilizin' an 'antifertilizin' ? 

Write the functions of the two. 2 + 1   

 (c) Describe the fate-map of chick embryo. 

   3 

 (d) What is grey crescent ? What is the fate 

of grey crescent ? 2 + 1    

    


